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Sample answers for Writing tasks

TEST 1, WRITING TASK 1
SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 4.5 score. Here is the
examiner’'s comment:

The candidate covers all the data in the charts, but there is some inaccuracy in his
description (the largest percentage went with the Agricultural and farms) (not true
in all cases) and there is a shortage of data to support the descriptions. There is an
attempt to summarise the main points at the end of the description. Information is
evident, but it is not arranged coherently (the description jumps from different usage
in general to specific use in different countries, but this does not follow a logical
sequence). Without reference back to the individual charts, it is hard to follow the
description, especially where reference is also unclear (it, them, they). The range
of lexis is just adequate for the task (largest percentage, greatest number, a lot, the
second after Asia), but there is reliance on input material and errors in spelling are
noticeable, even where the lexis is supplied in the prompt or the diagrams. A very
limited range of structures is used and grammatical errors are frequent (... all of pie
charts have the got ..., ... they almost the second after Asia use water in industrial
and opposite of Europe, ... they slightly same in industrial use, ... South Asia and
South America are uses the water in Agricultural rather than industrial). The script
represents a mixed profile, but overall achieves Band 4.5.

The charks indicoke ko Five places on khe earkh. Taking abovk waker and khe woys
of using ik.

It seen obvious all of pie charks have khe gok khe Lowesk precentoge in khe domeskic
uses like ok home. However, bhe Largest precentage wenk wikh khe ASrLCU\tura\ and
forms. The center of Asia hos bhe greakest numbers of precentage of Aarl.cd&.ura\
use. On khe obher hand in Europe khey did nok use, waker 50 much as central Asia or
Africa. They jusk use 32,4 %. Bok in khe induskral khey use ik alok and khe Largest
precentage wikh khem. I€ e check on Africa, Lk seen bhey almost khe second after
Asia use woker in induskrial and opposikte of Europe.

In North America and Europe khey slightly same in induskrial use and jusk less
4 precentages ko Europe, Soukh Asia and Sovkh America are uses khe waker in
Agriculburok rakher than induskrial.

Overall, khey all use waker much in Ehe farm and ASrLculturod. Europe and North America
bhey use waker more Ehan others in khe induskrial areas. Africa gok khe lowest
precentaae n domestic and indusktrial uses.
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TEST 1, WRITING TASK 2
SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 5.5 score. Here is the
examiner’'s comment:

The candidate puts forward three reasons for why he agrees with the statement
and develops/supports the first two of these. Further support and development
would be necessary to achieve a higher score here. Organisation is evident,

with some simple cohesive devices (sometimes used inaccurately) (First of

all, Nowaday, At the same time, Secondly, This, However, It, Finally, Overall),

and there are attempts to use paragraphs to present ideas. The range of lexis

is generally adequate and appropriate (pollution, driving to work, rush hours,
emissions, environment, traffic jam, congestion, public transport, commute,
destinations, advantages, drawbacks) and although there are spelling errors, these
do not usually impede communication. The candidate attempts to use complex
sentences (relative clauses, if clauses), but error levels are high and there are also
quite frequent errors in punctuation.

In cecent years. govemment focuse on improving quaility of life, that would bring a

lot benifits for citizens. Such as. communication, transprotation, heatth care. Some
argeement that butt cailways is more vseful for local people than roads. In my opinion, it
is good idea that more train sation is buit. Thece are some reasons.

Ficst of all, it reduced pollstion when more people give up driving to work in week.day.
Nowaday, people spend a lot of time on the coad in fush hours. At the same time,
emissions of cac bring a polistion in our envicoment. People easily get vpset, if they got
into traffic jam for longtime. Research has shown that it is get more polistion of air
that car stoped on the rocad without cutting power. Trainstation is a good way to make
easy that frain never cold get into congestion and rain is a public transport which is
more Yelpful to reduce air pollution.

Secondly, it solved congestion on the road whie many people commute by train, nearly
years, a number of car is growing. So, a question that a number of car is over volumed
of rocad is following. This cavsed traffic jam have being horrible problem. However, the
train will take more people to go to their destinations without waiting on road in (ush
hour. It is more convience for citizen.

Finall%, taking public transport is cheaper than privatcal vichele. People could save money
to do others -t*ne,cj intrested.

Ovecall, goverment pay more money for buiding raiway. Tt bring more it is a good decision
that advantages than drawbacks.
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TEST 2, WRITING TASK 1
SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 6 score. Here is the
examiner’'s comment:

The candidate covers all the key features of the task and rounds off the description
with an overview. There is some repetition of information and some irrelevant
commentary (which is good because it shows that more people have learned other
languages well). Information is arranged coherently and there is a clear overall
progression, with effective use of cohesive devices, though there is a tendency

to rely on dates. The range of vocabulary is adequate for the task, but the writer
does not attempt any less common items. There is a mix of simple and complex
sentence forms, with a fair degree of accuracy, but the range would need to be
wider to achieve a higher score.

The charks show khe percentage of khe Brikish students, who are able ko speak
languages other than English, in 2000 ond in 2010, In 2000, 20% of khe Brikish
studenks were not able ko speok anokher language. Buk in ZOIO khe number has
decreased ko 10%, which (S good because ik shows khak more people have learned obher
\O\r\suages well.

The bi.asest percer\taae had Spanish only wibkh 30% in 2000. Howsever Ltk has
increased by S% and s in Z0I0O skill bhe highest percentage wikh 3S%.

In 2000, German only and two obher \anauaaes were the lowsest ones, bokh wikh
10%. While in 2010 French only, German only and two okher languages show the lowest
percer\tage. while all of Ehem 80(: 10%. Al in olly Ehe percer\('_aae of German only in
2000 ond 201D hasn’t changed. The percer\(:ase of French only has decreased by sk.
No obher languages percentage was reduced by khe half: from bhe 20% n 2000 to
0% in 2010,

The number of people, who are Speoking kuwo okher languages has increased by half:
In 2000 there were 10% ond in 20I0 khere are ISZ.

Anok her inkeresting fack s khok khe percentage of anokher language has improved
aswsell: from IS% ko 207%.

Buk skill, khe mosk common learmed language LS Spanish only: In 2000 there usere
307% of English students, who spoke ik fuently, while in Z0IO Ehe number has
increased further ko 3S7%.
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TEST 2, WRITING TASK 2
SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 5 score. Here is the
examiner’'s comment:

The candidate expresses a position, but only partially addresses the prompt

(he or she considers ways in which people can be encouraged to recycle, rather
than explicitly looking at the extent to which laws are required); however, ideas
are relevant and are supported with clear examples. There is a clear overall
progression and cohesive devices are used effectively, if somewhat mechanically
(apart from Either). Paragraphing is just adequate. Lexical range is adequate for
the task and there are attempts to use less common items (policy, junk bank,
citizen, deposit), but there are errors in word formation (sale/sell, growth/grow up)
and some errors in word choice cause difficulty for the reader (inverse to be some
money, motivate advantages of recycling). There are attempts to use complex
sentence structures, but grammatical errors are frequent (million tons of wastes
have been being produced which from home everyday, easy example way to do in
house, There is one day a week in order that clean school together which help they
have ..., Starting give education).

NowsadoyS, more Ehan million kons of waskes have been being produced which €rom home
everydoy and some people claim khok nok enough of Ehe likkers is recyclea. Therefore,
they Ehink Ehe governments should have a policy ko increase recycling.

[e s necessary ko say bthak kheir governments should boke ackion. For example,
providing rubblish bag inko each family S0 khat seperake a likker and make ik ko have
value. Many waske; poper, box or steel from home can sale ko 80verr\mer\t$ or decrease
council kax. Eikhery bhe government should provide junk bank khaok bhe cikizen con
deposit recycled waske and inverse ko be sSome money.

Moreover, khe government sShould have spot advertisement on kelevision Lo mokivake
advankages of recycling. In Thailand, my counkry, we have “ZR” advertisement standing
For reuse, reduce and recycle and easy example way Lo do in house such as using less
plaskics bag (reduce), reuse boke awoyy box of Saole some poper.

In school keacher keach children how ko recycle waskte ot home ond ae back to kel bheir
parent. and come back ko report Eheir beacher. There LS one day a week in order kthak
clean school toaether which help l:he:) have a Sood akkibud in c\ear\LnS.

In conclukion, Lk should be good thak the Soverr\merxh moke some law abouk waske ktax
and moke people follows khe law by give Ehem back some money. Starkting give educakion
ok school 50 khak when khey growkh up Ehe will do easter.

In my opinion, Lk s very easy ko government ko do as I mention above ko reduce waste
from homes such as “3R”, junk bank, providing rubblish bins and keaching ak school and
Ik wil be a good habik and good in long keren.
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TEST 3, WRITING TASK 1
SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 6 score. Here is the
examiner’'s comment:

The candidate has reported all the data in the graph and provides summaries of
the main trends (The production of carbon dioxide in Portugal and Italy was steadily
increasing during that period, The emission of carbon dioxide in United Kingdom
and Sweden was under decrease during that period of time). There are attempts

at comparison (The emission of carbon dioxide in United Kingdom in 1967 was

the highest one among all these 4 countries, In 2007 the emission in Sweden was
at the same level with Portugal), but there is some irrelevant material in the final
paragraph. There is a clear overall progression, with some use of cohesive devices
(However, in the beginning). The range of lexis is adequate and appropriate for the
task (production of carbon dioxide, a bit higher, increased, decreased) and although
there are some errors in word choice (was under decrease, underwent/continued)
and spelling (tones/tonnes, deacrease), these do not prevent the message from
coming across. There are some attempts to produce complex sentence forms, with
good control over grammatical accuracy.

The graph shows the changes in the emission of carbon dioxide in 4 Eucopean countries
in the period from 1967 to 2007.

The production of carbon dioxide in Portugal and Italy was steadily increasing during that
peciod. In 1967 emission of carbon dioxide in Portugal was approximately 1> metric tonnes
and in 2007 tre emission thece achieved 54. In Italy in the begnning of the pefiod was
a bit hignec than 4. However, it increased only till 7.8 by 2007

The emission of carbon dioxide in United Kingdom and Sweden was unde decrease during
that period of time. The emission of carbon dioxide in United Kingdom in 1967 was the
hignest one among all these 4 countries (about I). But after 1967, it gradually decreased
to about 9 metrc tones. The emission in Sweden was around 8, b metric tones in

tre begnning, then it 5*re,adikj increas=ed il 10.5 metric tones. However, in 1977 it got
tremendous deaccrease in the emission of carbon dioxide which undecwent till 2007. In
2007 the emission in Sweden was at the same level with Portugal - around 5.4-56.

The changes in emission of carbon dioxide can be cdnnected with the changes in
economical development and appearance of some new technologies which reduce

emissions.
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TEST 3, WRITING TASK 2
SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 7 score. Here is the
examiner’'s comment:

All parts of the prompt are addressed and a clear position is presented throughout
the response. Main ideas are extended and supported. Ideas are logically
organised and there is a clear progression throughout the response. A range of
cohesive devices is used flexibly, while each paragraph has a clear central topic
which is developed. The lexical resource is sufficient to allow some flexibility and
precision and although there are a few spelling errors, these do not detract from the
overall clarity of the response. A variety of complex structures is used with some
flexibility and .accuracy. Grammar and punctuation are well controlled and error-free
sentences are frequent.

Many may Say. and I agree, Ehat today’s socieby has almost erased all iks boarders
ond s00n will become lmikless in whak concerns kravelling for bokh work and pleasure.
Therefore, if khis s ko hoppen, then leaming a new language s necessary.

Nowadays, leaming a new language for the purpose of working in obher counkries seems
Lo become more and more popular. Adulks n need of money Ofy why nok, recognision are
Erying ko pursve kheir hoppiness far away from home. Also, Ehe hey doys of employers
looking only for copoble people have gone. Ik seems khat koday’s employers are looking
not only for mulki-skilled employees, buk khey also wonk people who know mofe bhon Eheir
mokher kongue. Sooner of laker, Ehose who omikked learning more are prone kLo become
Jobless.

However, Lo my mind, a new language shouldn’t be learmed Josk for tro\vel\'u\s of working in
a ForeLSr\ counkry. A ForeLSr\ language should help the learner broaden his mind. 65 this I
mean bhak the new language should and will allow us to understand more abouk khe word
ikself, and maybe our ancestors’ woyS of ter\KLr\S and acE,Lr\S. Needless ko soy, knowsing
anokher language will help uS when Lk comes ko understanding the human race, because
language s the fursk poem of o COUhtr:).

Al of this being Said, I believe khat learming a different languoge sShould be nok only
for so&_LsF:)Lr\S our physical needs, like money, buk also our moral needs, because never
before had such a big khirsk for knowledge been displayed.
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TEST 4, WRITING TASK 1
SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 7 score. Here is the
examiner’'s comment:

The candidate covers the main features of the table and charts, and gives a
satisfactory overview of the data. The information is logically organised with a

clear progression in the way points are presented. Cohesive devices are used
effectively (during the same two periods), but not always accurately (on a contrary).
A range of vocabulary is used flexibly (shows a negative pattern, illustrates that,

an upward trend, has reached its aim), but there are occasional errors in word
choice (the amount of visitors, It is obviously). The candidate has used a variety of
complex structures (the charts that show the result of surveys asking people how
satisfied they were with their visit, after the refurbishment from 74,000 before the
reconstruction to 92,000 after it had been done). There is good control of grammar,
although there are a few minor errors (there is the charts). Punctuation is generally
well controlled, but full stops are missing at the end of the first and final paragraphs
and there are a few minor errors (lets look).

The table below shows the amount of visitors to Ashdown Museum during the years
aftec and the yeac before it was modemized. After the table there is the chacts
that show the resut of surveys asking people how satisfied they were with their visit
thos museum, duting the same two periods

It is obviously that the numbers of visitors significantly increased after the
refurbishment from 74,000 before the ceconstruction to 92,000 aftec it had been dore.
Now lets look at the charts. The year before refurbishment shows a negative pattem:
the resutts of survey ilbstrate that only 15% of visitors were very satisfied and the
numbec of dissatisfied people was 40%. Tre year after cefurbishment ilustrates that
the number of dissatisfied visitors declined and became 15%, on a contrary, people who
wece very satisfied increased to 35%. Compacing the amount of satisfied visitors we can
also see an upward trend (it increased from 30% to 40% after the refurbishment).

To =sum up, we can say that all wok that has been done to attract new visitors to
Ashdown Museom has reached its aim
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TEST 4, WRITING TASK 2
SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 5.5 score. Here is the
examiner’s comment:

All parts of the prompt are addressed and a position is presented (eventually)

that is directly relevant to the prompt. Main ideas are relevant, but some are
insufficiently developed. Ideas are generally arranged coherently and there

is a clear overall progression. Some cohesive devices are used effectively, if
mechanically, while others are faulty (From the point of my view). Paragraphing

is adequate. The lexical resource is limited, but just about adequate for the task.
Errors occur in word choice, word formation and spelling (rise satisfaction, the
same important as economic for a country, morden) and may cause some difficulty
for the reader. The candidate has tried to use a variety of complex structures, but
the writing lacks grammatical control (we are going to talking about, A country
doesn’t have a completed systems is not a completed country ...). The variety of
structures would suggest Band 6 on Grammar, Range and Accuracy, but the errors
sometimes impede communication; there are also errors in sentence formation and/
or punctuation (But some people argue that, So the goverments put the economic
progress to the top list, Because there are other progress such as).

Nowadoys economic progress plays an imporkant park in our life. So many government s
believe bhot ik should be khe moskt imporkant goal. Buk some people argue khat ik is
nok khe mosk imporkank khing. There are other progress are equally tmportant. In this
eSS0y we are going ko kalking abook why people have different views.

Generally people Ehink money S everybhing, Lf we do nok have any money, we can nok buy
anykhing. So the 80vermer\t5 put khe economic progress to the kop lisk. They believe
Ehe Lf Ehe economic progress could bring a good resulk, khen people can have money ko
rise sokisfockion abovk kheir lfe. However, okher kypes of progress are nok importank.

Some people suggest kthat kthe government should nok puk khe economic progress ko khe
most imporkank place. Because there are okher progress such as health syskem, butlding
design, of educakion Syskem are khe some importank as economic for a counkry. A
counkry doesn’t have a complebed syskem is nok a complebed counkry, even Lf ik has

a lot of money. In Ehis morden socieky, more and more people realize khak money s
nok khe Lmportank khing in khe worldy and ik doesn’t mean anybhing, while khey bhink
healkh 4 hoppeness are more importankt thon k. Owing ko Ehak, some people argue thak
okher kypes of progress are equally important.

From khe poink of my view, I agree wikh thok okher kypes of progress are as
importank 05 economic. Even khough we have a lok of money. we can nok buy hoppeness
and healbh. Therefore khe governmenks should puk okher kypes of progress ko khe

tmporktant place as well.
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